SCRDE

6F118 &

3 BERARI B2 K3

11 FFRAIKR

X % R £ EE
A%t fEE 2 2 0
A7) Z0 0 0 0
HEgE HEUVEE 3 3 0
X Z0hh 3 3 0
IEEER 3 3 0
B2 18 25 0
HEUVEE 11 17 0
ZDih 14 17 0
HE 0 0 0
&5t 54 70 0
12 BiEAIKR (51 4EH)
X % BN EoHh 24 B
iz 42 9 3 0
% 77.8% 16.7% 5.6% 0.0%

13 RE-BIEFA ST (NS ERRFER)

BEREOERGUS
EERLUT OXR

BN ERES &5 &
%igﬁg 0~2 1 2 0
(H6FE10A KBREHIE) 2~4 0 0 0
4~6 0 0 0
SH6E12R 1 BHERD T ESHEHILEE) 6~8 3 3 0 T
8~10 8 11 0
L pathbLTsoREORENE 1012 © . 0 (=M
2 SRWhE ERMOZBEHN LR URELESORE 12~14f 11 14 0 \L
3 HEBREFOANNAYMEAEZEN—IETORE 14~16 5 5 0
16~18[ 14 19 0
1455 18~20 6 9 0
EXG PNEET4 3 E & & S5HEE | MiEER 20~22 1 1 0
SHIGE 54 0 70 1 710 22~24 0 0 0
S5 66 1 90 7 677 &&t 54 70 0
Lt -12 -1 -20 -6 +33
9 ERE )R
2 ETOXRBERBME(0BARERE) 3 ASEHOEY X 7 % & EEEE (%)
BIEER L ORMIH464+ (85.2%) WEIH8E(148%) [1E & & 4§ 2 4.1%
ABE 12,761 -528 ORBE-KEDFKELNZL, 1w % 2L 8 16.3%
B & 15,093 -602 OEHMENBEZRTIEHRILADI26WE E E K 0 0.0%
® & 86 +8 OBE-HEVENZHFHELTLS, B 1 K % 3 6.1%
EEEET—AL 5L BEABOHES 3 6.1%
7 BRERAI SITEWESE 2 4.1%
4 BAREBEH(EHXE2E) X 4 iz S RERTEHELT 0 0.0%
X7 HH#|GE | EE R5 | R6 — B F & it 7 14.3%
HITE 2 2 0 E |EE29% 21| 26 I EEEEE X 22 44.9%
HEE 6 6 0 B |EE4298 2 0 o [# ) fth 2 4.1%
&4t 1 1 0 BRRE 1 1 0| & EREGTE)
HE — & 5 5 0 INERFE 0 0 of I & & 0
& 2 2 0 ZARE 1 0 0| |EDERIERERN 0
EiRE 1 1 0 REH= 2 4 of | U & L 0
= B 23] 25 0 HERR 0 0 of |# ) fth 0
R [XERE ol o] o
RETHEA 5 5 0
5 $£14FBE (BErE RATLL) BT 0 0 ol 10 EBERKR
Ryo| &E i = REEBF 1 1 ol |EH 8 &5 EE
i 4 22 16 —E4£H 0 0 0 B 5 6 0
& 0 0 0 FEHE 0 0 0 A 10 14 0
EHEIX16~24F T, Sl IE65mUL B LR 4 3 0 X 12 13 0
—fREE 1 1 0 7K 5 7 0
6 MRl (E1HEH) —ETiE 20 11 0 X 8 11 0
X5 5 ES B Z Dt 8 2 0 & 8 11 0
i 31 23 0 A5t 66| 54 0 S 6 8 0
A1 REEGRBEIATIR - TETHRETHD,

2 BREE) NDOEEIF. REDRSUNDRESAH D ENL . KREFDASERHHESBLENEENHS,

5%

=5 0

5

..yE%

HH

=aF" fida IR
1 20 | 10
A
510




